
 

g oder k? 

 
Zwer_ 

 

g: 5 

k: 10 

 

 
Kru_ 

 

g: 6 

k: 9 

 
Ber_ 

 

g: 3 

k: 1 
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g: 9 
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Kleidun_ 

 

g: 2 

k: 11 

 

 
Geträn_ 

 

g: 8 

k: 7 

 
Schran_ 

 

g: 5 

k: 12 

 

 
Bur_ 

 

g: 11 

k: 1 

 
Flugzeu_ 

 

g: 8 

k: 7 

 

 
Schmetterlin_ 

 

g: 1 

k: 3 

 
 

Zu_ 

 

g: 4 

k: 6 
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g: 8 

k: 10 
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g oder k? 

 
Zwer_ 

 

g: 5 

k: 10 

 

 
Kru_ 

 

g: 6 

k: 9 

 
Ber_ 

 

g: 3 

k: 1 

 

 

 
Schlafanzu_ 

 

g: 9 

k: 2 

 
Kleidun_ 

 

g: 2 

k: 11 

 

 
Geträn_ 

 

g: 8 

k: 7 

 
Schran_ 

 

g: 5 

k: 12 

 

 
Bur_ 

 

g: 11 

k: 1 

 
    Flugzeu_ 

 

g: 8 

k: 7 

 

 
Schmetterlin_ 

 

g: 1 

k: 3 

 
 

Zu_ 

 

g: 4 

k: 6 

 

 
Lo_ 

 

g: 8 

k: 10 
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